Prof. Awni B. Hallak Physics 101
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The Hashemite University 2012/2013

Suggested Problems from Chapter 3

2. The rectangular coordinates of a point are given by (2, y), and its polar coordinates
are (r, 30°). Determine (a) the value of y and (b) the value of r.
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8. Three displacements are A =200 m due south, B =250m due west, and
C =150mat 30.0° east of north. (a) Construct a separate diagram for each of the

following possible ways of adding these vectors: R =A+B+C;
Iiz =B+C+A 5 |§3 =C+B+A. (b) Explain what you can conclude from
comparing the diagrams.
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i.e. the order of adding vectors is not important. The result in this case is always the same.
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14. A girl delivering newspapers covers her route by traveling 3.00 blocks west, 4.00
blocks north, and then 6.00 blocks east. (a) What is her resultant displacement?
(b) What is the total distance she travels?
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25. Consider the three displacement vectors A =(3i—3j)m, B=(i-4])m, and

C=(-2i+5])m. Use the component method to determine (a) the magnitude and
direction of the vector D=A +B+C and (b) the magnitude and direction of
E=-A-B+C.
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37. (1) Taking A =(6.001-8.00j)units, B =(-8.00]+3.00j)units, and
C=(26.0i+19.0j) units, determine a and 5 such that 4A +pB+C=0. (b) A

student has learned that a single equation cannot be solved to determine values
for more than one unknown in it. How would you explain to him that both a and b

can be determined from the single equation used in part (a)?
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